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A multimedia entertainment company wants to host the servers for its upcoming video game series,

which will require high CPU utilization on IBM Cloud. What is the most appropriate offer to recommend?
Response:

A. Skytap service
B. Bare metal servers
C. Virtual servers
D. Virtual appliances

Answer: B

An organization wants to deploy an online tool to their employees' questions in realtime based on its

bank of questions and natural language processing to cover all the supported languages. Which IBM
Cloud service can be used in this case?
Response:

A. Watson Assistant

B. Watson OpenScale

C. Al Explainability 360
D. Watson Tone Analyzer

Answer: A

Which process ensures the right resources have access to the right assets?
Response:

A. Identity and Access Management (IAM)
B. Change Management

C. Security and Regulatory Compliance

D. Incident and Operations Management

Answer: A
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Efficiency, autonomy, and modernization are attributes of what cloud model?
Response:

A. Concurrent
B. Private
C. Hybrid
D. Public

Answer: C

Which cloud deployment model allows an organization to take advantage of thesecurity and control of a
private cloud while realizing the financial benefits of using thepublic cloud?
Response:

A. Blended cloud
B. Mixed cloud
C. Hybrid cloud
D. Multicloud

Answer: C

What are two open source container management platforms available in IBM Cloud?
Response:

A. IBM Kubernetes service
B. Red Hat OpenShift service
C. Elastic Kubernetes service
D. IBM Container service

E. Elastic Container service

Answer: A,B
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A startup has a limited budget, so they want to minimize their cloud costs. They have a flexible workload
and are prepared to sacrifice up time for cost savings. Which option fits this scenario?
Response:

A. Public Virtual Servers

B. Transient Virtual Servers
C. Reserved Virtual Servers
D. Dedicated Virtual Servers

Answer: B

What two are considered Document databases?
Response:

A. MongoDB

B. Elasticsearch

C. etcd

D. EnterpriseDB Postgres
E. IBM Event streams

Answer: A,B
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